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Let R be a relation defined on ZxZ by
(a,b) R(c,d) & a-d=b-¢c, where Z is
the set of all integers, then R is :

reflexive but neither symmetric nor

1 lransitive.
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lransitive but neither reflexive nor

S}Fﬁ‘lﬂ'li'_"il‘ic.

symmelric and transitive but not

reflexive.

Let z'(:t ~1) be any complex number such

that |z| = 1. Then the imaginary part of

2(1—2).
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The set of all real values of « for which the

equation, |x+ 2|-x— 2| = a®~ 2¢ has real

solutions for x, is : )
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Let A be a 2x2 matrix such that
AZ+A+1=0, where I=1,. Then

‘adj[ﬂ A}F’)‘ is equal to :

3
1 3

4
2.3

£
3.3

9
4.3

qHET A TH 2x2 AqTHE, Taus fau
A24 A+1=0, waf® 1=1, %, @t

adj(@ — AP )| T E

qiRl 5 A ds widl 2x2 glds 5 5 ol
A2+ A+TI=0 =21, =il I=I, -l

adjl (1 — AP }‘ R 8.
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If the system of linear equations
x+4y—3z=2
X +7y—4z=u
x—dy+5z=p
has infinitely many solutions, then the

ordered pair («, [3) cannot take the value :

1 & —2)

af Yigs T

x+dy—3z=2

x+7y—4z=au

x—5y+5z=p
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A T el & T/
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sd vl 2p{lsrel eld
x+4y—3z=
x+7y—4z=u
x—dy+5z=p
A et G5el €1, dl 5445 ods (o, ) Al Bud
A ©lg 2.
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Let A be the set of all 3-digit natural
numbers and B={x ¢ A: H.C.F. (x, 15)=1}.

Then the number of elements in Bis :

. 420

360

480

240
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QRS A 2 3-isluil e Miglds dvaisiidl
ACL S w4 B=|xre A: HCF. (x 15)=1}.
B AL sieadledl Hva 8.

i 420
360
480

240

If r is the remainder obtained on dividing
(98)° by 12, then the coefficient of x* in the

52T
Binomial expansion of (T | %J is :
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of the first and the sixth term is 66 and the
product of the second and the fifth terms is
128. Then the sum of the first 6 terms of

this series is :

: 127

5 129

5 126

2
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T FHAA TR 49 H, Teel 3R 9 w6
AT 66 T 3T SHT G991 9194 T8) & A%
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128 &. dl il gL UUH 6 VEHL AR
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= 126

2
4. 125

The sum of the infinite series

2
fepe 26 B 1, g

3 32 33 34 -----------

A= 4l

£
11-21-%1111—{]131

32 33 34
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z. 5
= 6
9
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., Ax+6-—sinlx—3)—-3 ,
lim is equal
x—3 (x — 3jcos(x — 3)
lo:
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> 6
2
2 3
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3 51 3 3
lig X+ 6 —8IxX— 3) — < 3.
x—3 (x — 3)cos(x — 3)
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Then the valueofa + b is:

M Head For [ R ¥ afenfea #
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Let y be an implicit function of x defined
x4 y 2 1
2
by| © YtV 2| p1y=o
1 2 x+y

dy :
If y(0) = — 1, then e atx=0is:

1
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1 2 Xty

gL B, sdy(0) = — 1, dlxr =0 214
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e

1

= | o
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5 § 1=

Let f: R-{0}] — R be defined by
fix)=alog, |x] +bad 422

If x= —1and x=1 are the critical points of
f(x), then :

L S (-1)=0

o F@O~f(-1)=4

both x=1 and x= —1 are local
= minima of f{x)

x=1is alocal minimaand x=-11is
i@ local maxima of f{x)
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5
[f(tydt = 3. Then the value of jf (tdt
]

can be :

HA [ [0, 5] — R T Had e 39 TR ¢ 5
a4 x e [0, 5] F fAU |f(x)| =3 @

. A
If(t}dt =3 If(t}dt e | 4 frmer
0 ]

S B GFAI 2 7
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. ;s
jf{t}dt =3 5. dl If(f}df Al [5ud
0 ]

secx
—————4dx isequal lo :
-,,’sjnx*c::-s‘ax

(where C is a constant of integration)

1

- i
2(tanx)2 + é(tanx}ﬁ b C
1.

1 5
(tanx)2 4 El[ial"l;'fjl-;‘— + C
2 5
Lo s
2tanx)2 + —(tanx)2 + C
3. 5
: % 5
2(tanx)2 — =(tanx)2 + C
4. 5
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1
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-
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2 E
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The area (in sq. units) above the x-axis
bounded by the parabola,x —y?>~ 1=0and
the linex —y—3=01s:

Ww|oo’

TEed, x -y 1=0 a9 MW x-y-3=07
B 30 4R x-\9 F IW 99 99 F aAFA

(= gFIsdi #) 7

w|oo’
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Let the tangent drawn at any point P(x, y)
on a curve intersect the x and y axes at two
distinct points A and B respectively. If
AP : PB = 5:1, and the curve passes
through the point (2, 2) then an equation of

the curve is :

] Xy5=?.{‘

4 _n5
5 WY =2

—n5
5 xty=2

g *y=2°

HE UF 9% o (6 a5 P(x, y) T didl T8
TGl x A4 y- A4l FH: = T g
ATN B R FA &1 ACAP:PB=5:1%
3R = T (2, 2) 9 S/ 9l 2, ol 95 6
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dl

ARl 5 518 ds-u siguet [ P(x, y) 2ot gy

2u2ls x iy wEA 25 A 2 B [Cigail

§UPIN B 8. sl AP:PB =5:1 d2 ds, [Cg

(2, 2) gl wuir adl ¢l dl as wedlse
5.

Let A(1, 3) and C(5, 1) be two opposite
vertices of a rectangle. The other two
vertices B(a, b) and Dic, d) lie on the line
y=2x+Kk for some k. Then the value of
(@a+b)ctd)is:
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AAT A(1, 3) @91 C(5, 1) T& AA9d & 994
vid & | S9% 319 21 ¥ B(a, b) 991 D(c, d)
foreit k & fom, T y=20 + kR frgm & @
(@tby(ctd) FHAAT

32

ARl A1, 3) 2 C(5, 1) =1 =15 de@lizarl o

AL [« 8. cuslu o Rrilbig2i

B(a,b) 211 D(c, d), 5185 k e, Yl y=2x + k

Yz 2uddl 8. dl (@at+b)(c+d) -l Eud
8.

32
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a circle be the roots of x2 + 2x — 4= 0 andMWW-FirstRanker.com
ordinates of A and B be the roots of

y> +4y - 16=0. If AB is a diameter of this

circle, then the radius of this circle is :

AHE UF g9 W Gl a3 A a9 B & S
(abscissae), x2 + 2x — 4 =0 % §oT & a91 A 31T
B % FIfe (ordinates), y* + 4y~ 16=0 F g
g1 afg AB 39 99 F UF =W € o THH
fﬂ'\?miﬂ'ﬁ{%:

HIEL 5 25 adn wadl o (G52l A 2 B AL

x4 A x2 + 20 - 4=0 -l olor & L A 24

B Ayl Ay + 4y 16=0 Al vller ©. ot

AB 2l 4diidl e 6, ol 2 adadl Fseu
B,
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5 1

2J6

3.

Let P be the point on the parabola y2= 3x

such that O makes an angle of E with the

x-axis, where O is the origin. A normal is
drawn to the parabola at P’ intersecting the
axis of the parabola at Q. If Sis the focus of
the parabola, then SQ is equal to :

39
1. 2

A O HeAfag &, P Waed, y?=3x W U&H
fag ¥ s OP ﬂ"mx—-am?ﬁaf’:ﬁmﬁmg
T | Waed F 59 fag P W i e sAfer,
THF A9 F1 Q W Fedal g1 Al Waed =
MHHZ S B, A SQ T T :
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HRLS P ol ey y?=3x U 21q (g 5 %
) B =) Tr ™ ey N
o/l OP #4 x- w484 212 - AL el o, sl
O Qb ©. P 210 wzeaud erd 21 tde
Wl YHEYAL oA Q WP 98 5. sd S @

YzeeHl AR €l dl SQ “lrie
Y1,

Let the ellipse x%+ 16y*> = 16 be inscribed in
a rectangle whose sides are parallel to the
coordinate axes. If the rectangle is inscribed

ellipse is : www.FirstRanker.com
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5 2+ 2487 =162

L X2+ 200y2=162

; P+Bu?=16

TF EegE, 22 + 16y2=16, TF AET Fa®
S0 89T 3181 o WH , T A= oA
T | g o, UF R €regY % A
T T ¥ AR AR S A (16, 0) ®
B L 1T €, A SHR T E

;. x2+256y2 =162

5 2+ 248y =16

o X2 +240y2=162

, P+232%2=16

Azl 5 ool slggoll qPUslA MHIdR € del
dorllzyHl Guaa x2 + 1617 =16 2 . st
v derdiny, (@5 (16,0) izl Wiz 2dL sy ddl
oflod Guatel 2Acpld €1, ol YRl Busad
Halszel .

;. x2+256y2 =162

5, X +248y7 =16

= X5+ U= 10"
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Let the planes x—-2y+kz=0 and
x+5y —z=0 be perpendicular. Then the
plane through the point (2, —2, —2) and
perpendicular to the given planes also
passes through the point :

] (0,5, 8)

5 (0.5, —8)

, (-1.0.-7

" (1,0,7)

HATHATA x— 2y +kz=0ddM x+5y—z=
WO EEd €| A 9% guad Wi fag
(2, — 2, —2) ¥ BT w1 & 99T U T T
F oraeq 7, fra 8 9 T farg 9§ At o
&7

. (0,5, 8)

2 (0.5, -8)

, (-1.0.-7

" (1,0,7)
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el YAl € HHad (gl
YL MR UM D,

;. (0,5, 8)

5 (0,5, —8)

, (-1,0,-7)
1,0,7

4.( }

i the two K r—2m._ . ¥y . Z—4

OfNeS Ym+5 8m 2

d-x 2_1_2 2m o]

an m-— 2 1 1 — 3m S RS

for some m ¢ R, then the distance between
them is -

x— 2m Ui z— 4
= = a4gn

[
=
[ ]
20
=
=1
I~3

=D 1 z—2m "
=i1= .nm%,ﬁlfiﬁl
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518 me R M2 s o 2ol

x—2m oy z—4 i

2Zm+ 5 sm 2

g2 _ 3 =T HHildz €1y, dl
m-— 2 -1 1 - 3m %8

Al o »ide 8.

—_ N,
[f three wveclors V; =ai +j +k
— F A o .—_'.- M M
Uzzfx}.ﬁj.gkﬂndy’3=j+jﬂle
i3 —
coplanar, and V; and V3 are
= .

perpendicular, then the vector V; x V,

is:
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3
5 i i+ 2k
A Yy
5 E+
i 28 —2F + X

e e

gfe i\ "igw ‘v_”; =uu'- I ; + k-,

— 4
I

s
V, = i

FRj—2k T vy = 4
= "=y Z
A &, 991 v, 3RV, TER o E,

ﬁlﬂfﬁﬂﬁxﬁ%:

- —* A A s
od A9 MR v, = i o+ + K,

FAN g

—X M gt 4 '-i—}
Vo =i +Bj—2k MV =i+ |

% oy ey S
Wucdly B, dal v wid vy W do g, dl

i
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P N, i
i F + 2k
2. J
My My
i+ 7
3 ¢
gt i, o
2 21+ k
4 <! ]

If : P - S be the observed data such

15

that x; — 2n= 180 and

1

Il

n

ZI,- 7n= 30, then the mean of the
i=1
data (x; —3), (xo—3), ..., (x, —3) is equal
to

o

afg demi v, vy, ..., x, T9 IFR € T

w,

n n
zxi 2n= 180 q1 }_:x,- 7n= 30,

#HE (v, 3), (¥, 3), ..., (x,—3) F1 A=A

:
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2.

-:.-.1|E:

S .  x,, @ell 2l wiled & 3

ol Y x; — 2n= 180

Yx —7n=230, ui, dl wld @, -3),

(x5-3), ..., (x,—3) Al HEYS SRR

If for two events A and B, in a random
, 4 1
experiment, P(A |B)= 5 and P(B| A)= 1

then P(A |AUB) isequal to :
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16
17

11
4 16

IfE U AgieeE A H, g1 92AE A a9 B
£ WP{MB}:% ?EHIP{B|A}=£ g
P(A|AUB) TR T :

16
17

11
4 16

518 s MHRIML s oL Y22l A 21 B R
L e ﬁ
P(A|B}=E Wi P{B|ﬁ}=1 eld, dl

P(A|A UB) oI 8.
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16
17

11

If 6 cos2h—2 cos20—3=0, then tan230 is
equal to :

=
I-"‘JlH

=2

S
|0

Tz 6.cos2) — 2cos20 — 3=0%, A tan30 T

3

=
I-"‘JlH

=2

www.FirstRanker.com



ql » FirstRanker.com

Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

sl 6 cos20 —2 cos20 — 3 =0, dl tan230 YA
£,

&
|__'q||._'|

(==

b | o

If a, b and c (all distinct) are the sidesof a
triangle ABC opposite to the angles A, B

and . respectively, then

.csin{:ﬁa B) bsin(C — A) gl
a2 h2 = aZ .

1. 0

2. 1

= -

i 1
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A small lift for carrying small loads only is
known as which of the following ?

i A deaf bearer

5 A dumb waiter

4 A jockey boy

y A push upper

Hindustan Parryware in the Indian market
is known for which of the following
product 7

i Pipes

5 Sanitary ware

g Wall tiles

4 Wooden tables
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Which one of the following is a UNESCO
World Heritage Site ?

] Kochi

5 Hampi

Bijnor

i Bijapur

The most famous temple in the Khajuraho
group of temples is which one of the

following ?

1 Shiva Temple

5 Kandariya Mahadev Temple

5 Ganesh Temple

y Krishna Temple

Parquet flooring is usually made of which
of the following ?

] Granite

5 Marble

Cement

4 Wood
: www.FirstRanker.com
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The fort in Hyderabad is known as which
of the following ?

. Bahubali

5 Golconda

5 Siladhari

4 Virbanda

Which one of the following is the tallest
building in Bengaluru ?

i World Trade Centre

5 Mantri Pinnacle

5 Concord Tower

i U B Tower

The Sas Bahu Temple is located in which
of the following ?

i Red Fort

5 Jhansi Fort

5 Gwalior Fort
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Which amongst the following is the city in
[taly that is known for its leaning tower ?

i Venice

5 Florence

The Lotus Temple is located in which one
of the following city ?

1 MNew Delhi

5 Nagpur

g Kanpur

4 Lucknow

Cement Plaster is used for which of the
following ?

] Covering walls

5 Making roofs

www.FirstRanker.com
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Helical staircases are which one of the
following 7

i Dog leg staircases

5 Curving staircases

. Straight flights

¥ Staircases with no railings

An escalator moves in which of the
following directions ?

L Only vertically

5 Only horizontally

= Vertically and Horizontally

i In steps

Rooms with white painted walls appears
to be which of the following ?

L Smaller

5 Larger

5 Darker
' www.FirstRanker.com
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Zaha Hadid was borm in which country
amongst the following ?

: Iran

5 Iraq

5 Afghanistan

: Turkistan

Cuesticon Label | Comprehension
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Directions : One of the following answer figures is hidden in the problem figure in the
same size and direction. Select the correct one.
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Directions : Which one of the answer figure will complete the sequence of the three
problem figures ?
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Directions : Which one of the answer figures is the correct mirror image of the problem
figure with respectto X - X?
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Directions : The problem figure shows the top view of an object. Identify the correct
elevation from amongst the answer figures looking in the direction of the arrow.
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Directions : The 3D figure shows the view of an object. Identify the correct top view
from amongst the answer figures.
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Juestion Label - Comprehension

Directions : The 3D figure shows the view of an object. Identily the correct side view
looking in the direction of the arrow, from amongst the answer figures,
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4.

Question Label : Comprehension
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Juestion Label : Comprehension
Haael 3 - D 2ugld 2is wsield e odid 9. dladl Bl sadi wad 4@ weel 294 (side view)
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. www.FirstRanker.com



Bl » FirstRanker.com

Firstranker's choice i
www.FirstRanker.com

—
2 |
|
4.
&
L
AT
{'J‘H"h ‘HH e -~
]
Hh"“a:'_ ST
Lo
N“'\.._L
—
]
> [ ]
3 L]
—
|
4 |

www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



: : FirstRanker.com

Firstranker's choice

In the space provided in the answer sheet
for this question, draw margin lines to form
a frame. In this frame create an aesthetic
composition using only cubes. These can
be of any size, and may be placed separate,
overlapping or within each other. The idea
is to produce an aesthetic and visually
exciting composition of these shapes in the
frame without making it represent any
realistic form like house face etc. These
shapes and the other spaces should be filled
with some colors of your choice so that the
visual quality of the composition is
enhanced. 20 marks
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Creditwill be given to the exactness of your
ANSWEeT. 20 marks
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In the space provided for the answer of this
question attempt any ONE of the

following : 30 marks

Design and draw anappropriate pattern for
a square table cloth. Color or shade it to
enhance its visual quality.

OR

Draw a picture of a classroom looking
towards the teacher from behind the
students.

OR

Draw from imagination a picture of an

officer sitting in his office. )
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